Titration Calculations
Calculating pH during a weak acid – strong base titration where NaOH is the titrant.

Titrating a 20.00 mL sample of 1.0 M HC2H3O2 with 1.0 M NaOH

REACTION:   HC2H3O2 (aq)  +  OH-  (  C2H3O2- (aq)  +  H2O (l)

ACIDIC EQUILIBRIUM:   HC2H3O2 (aq)  (  C2H3O2- (aq)  +  H+ (aq)
BASIC EQUILIBRIUM:   C2H3O2- (aq)  +  H2O(l)  (   HC2H3O2 (aq)  +  OH - (aq)  
Initial pH calculation:  

· Major species in solution 

· Which equilibrium is dominant?

· Calculate [H+] or [OH-]

· Determine pH

Addition of 5.0 mL of NaOH

· Reaction Stoichiometry

· Major species in solution after the reaction

· Which equilibrium is dominant?

· Calculate [H+] or [OH-]

· Determine pH

Addition of 10.0 mL of NaOH

· Reaction Stoichiometry

· Major species in solution after the reaction

· Which equilibrium is dominant?

· Calculate [H+] or [OH-]

· Determine pH

Addition of 15.0 mL of NaOH

· Reaction Stoichiometry

· Major species in solution after the reaction

· Which equilibrium is dominant?

· Calculate [H+] or [OH-]

· Determine pH

Addition of 20.0 mL of NaOH

· Reaction Stoichiometry

· Major species in solution after the reaction

· Which equilibrium is dominant?

· Calculate [H+] or [OH-]

· Determine pH

Addition of 25.0 mL of NaOH

· Reaction Stoichiometry

· Major species in solution after the reaction

· Which equilibrium is dominant?

· Calculate [H+] or [OH-]

· Determine pH

